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® Prakash 1s facing north. He turns 135° left, then he turns 90° left, then
he turns 45° right. Now, which direction will he be facing?

* JERTST 3T o HHIE 7l I8 135° 91 HEdT &, T a8 90° 13 e &, T
I8 45° TR ST 7l 37, S8 Tl T4 o6 SR BT

A.East
B.West
C.North
D.South




* A clock 1s set right at 8 am. on sunday. It gains 8 minuts 24 hours.
what 1s the correct time when the clock indicates 9 pm on upcoming
sunday?

(A (A

°* Ush U2 3ioh § &5l U< hl STdT 2l TR okl 24 & H § ToHe o1 A1 211 21
3T T UIGR T TS | U 9 o<1 kT Hal I0Y =T 27

A.9 pm
B.8:30 pm
C.8 pm
D.10 pm




®* Ram, Rajat and Ramesh are the three sons of Kavita, Mukul 1s the son of Ram.
Mukul's paternal grandfather is Jay. Jay has one daughter, Nikita. Rajat's son,
Abhiram 1s married to Rani and their daughter 1s Ina. Nirmala is the daughter of
Nikita. How 1s Jay related to Ina?

* TH, TSI ST THIT Shiddl o o1 I3 ©, Hohel TH o O 8| Hohed o 4181 ST @ S shl
Teh si2] TohdT 81 T8I o sie, SR oht 21mat T & 85 & ST 3T ofel 31 &) et
fferaT shT Tt 1 ST o1 34T 9 T ey 22

A. Great grand father
B. Grand father
C. Paternal Uncle

D. Father-in-law




® In a class of 25 students, Honey got 9th rank from the first and Sir1 got
19th rank from the last. Only Deepa 1s ranked between Honey and Siri.
What 1s Deepa's rank from the first?

® 25 BTAT shl Ueh hedT |, BT AT &3 AT T 94T Lo fHer M it a9
1991 Lok Tiretn) shaet 9T ohl &1 3T faft & i i fuem 8 Sar i
ST 9 ohie |7 27

A.10t
B.7t
C.6h
D.8th




 Given statement and focus of the statement Assuming the information in the statement to be true even if
they occur at different events from known facts, decide which of the given conclusions logically follows
from the given statements .

 fQT T e ST he 2T €T she U & TS ST shi Hedl JIHT SITT €, Het & of JTd q] & SF-S7elT ST
gict &1, H0IT 36k STTE faU T Kol | shiH-HT Ry o1 3 dlicheh ¥4 € S0 3L 2

» Statement

* Some bananas are green(%s el BL )
* Some green are yellow(FS s Tl & )

* Conclusion

» Some bananas are yellow(F® el Uit 8 )
* Some yellows are bananas(h® Uiel ohel ©
» All yellows are bananas(@+t 9iet el )

* Some green are bananas(h® &L oha %)




®* Which letter-cluster will replace the question mark (?)
in the following series?

o TIRad SRaeTT § Team=eh g (?) o T W ahiF 91
-G AT

BECD, FIGH, KNLM, ?, XAYZ

A.PSQR
B.QWSU
C.QTRS
D.ORPQ



* Which number will replace the question mark (?) in the following

series?

o

fTRad T TaT=en (g (?) % T W hiF-H] T AT

ALGAT?

4,10, 18, 38, ?, 150

A.78
B.74
C.84
D.70



A.15
B.12
C.20
D.10



A.8
B.6
C.7

D.5



* Select the pair of numbers that are equal.

(N G NN aaN

o T oh 39 RLEIIERE Fifer s for feferfad ?\ljﬁéh g 2

*(4,12, 16)

A (81,36, 9)

B. (36, 25, 49)

C. (64, 36, 100)

D. (16, 20, 25)



®* What day was 1t on 10th may 18577
10 T 1857 i i 9T faT 912

A .Friday
B.Saturday
C.Sunday
D.Tuesday




* COUNT THE TRIANGLE

A 39
B.38

C.37
D.40




* From the following alternatives, select the word which cannot be
formed using the letters of the given word.

» FFfetiad fereredl # | 9 31ee T, 578 14T 71T 37ee o 378 1 T4
ek Ta] ST ST EehdT 2l

- SECULARISM A. Classier

B. Close

C. Musicals

D. Aimless



® In a clock, at 3 a.m. the hour hand is pointing south. What will be the
direction of the hour hand at 6 pm?

* Ueh SISl H, YoT8 3 ST 5 ohl 3 30T faIT <hl I ST shclt 21 I 6 oSt
52 ST G hT TaeT R Rt

A.North
B.West
C.East
D.South




* Eight students A, C, D, H, K, R, S and V are sitting around a circular table
facing the center (not necessarily in the same order). Four students sit
between C and V to the right of C, while 2 students sit between S and V to
the left of V. A sits opposite to S, while D sits opposite to K. If R and D are
neighbours, then who among the following 1s the neighbor of H?

*ARBBA A, C, D, H, K, R, S 3R V Tk TATRR B o IR 3T shg
AT SIS © (37T THTT 5hH H BT STTa939 g1 )| Ch a8 C 3RV
T AR BA IS T, AR VH L HV ALSF AT 2 BAASEI A, S _
IR ST 2, Fafeh D, K % fadia 331 21 A R 3 D vered &, aa et &
9 i H &1 9SHl 27 AV

B.A
C.R
D.C&S




* A number of friends decided to go on a picnic and planned to spend
Rs. 96 on eatables. Four of them, however, did not turn up. As a
consequence, the remaining ones had to contribute Rs. 4 each extra.
The number of those who attended the picnic was

* % SI%Al o TUshi<eh UX ST AT & fohaT 3T &9 G ohi shl AT SHTS|
TH-H T ST I 96. Tifeh 390 | IR 1 34| Ad IS4, 9 AN
TG BT ANTET ST UST| 4 Tedeh ATieh| fUehi-er T IMTHT & ol shl
G o

A.8

B.12
C.16
D.24




